MTH132 - Examples

4.1 Problems

Table and Graph Problems
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Example 1. Estimate the area under the curve f(z) = \/_T on [—4,—1] using 4 rectangles and right
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Unseen Difficulties
Example 2. Consider the function f(z) = x(z —4)? on the interval [0, 6].

(a) Estimate the area under f using left-hand end points and
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(b) Estimate the area under f using right-hand end points and
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(c) Use your curve sketching abilities and 4.1 video notes to explain why none of the previous estimates are

technically upper sums. /
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(d) Find an upper sum of f using 3 rectangles.
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Example 3. A
Ryan is at point R on the shore of a circular lake with radius 2 mi
and all of a sudden really has to use the bathroom which is at point B
diametrically opposite R (see the picture to the right). He can run at
the rate of 8 mi/h and row a boat at 4 mi/h. How should he proceed? R B
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Example 4. A rectangular Storage container with an open top is to have a volume of 10 m3. The length
of its base is twice the width. Material for the base costs $10 per square meter. Material for the sides costs
$6 per square meter. Find the cost of the materials for the cheapest such container.
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